Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:

7 High velocity flow effects are present when the slope is non-zero and positive.
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Final check for high velocity flow effects: y
3 High velocity flow effects are present when the slope is non-zero and positive.
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; Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 5
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 6
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Log-Log plot of_differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 6
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 6
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 7
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 7
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 7

9.0E-02 , ‘ ; ' ,
o | | | N
| | | " ‘ |
87TE02 +—— {00000 1 | 2 ’ S — O
| A(P?)/Q = 2E-07Q + 0.0798] | | |
i 2 ’ ;
8.4E-02 - : | I R*=1E-0 S S N |—
I ,f - % | |
£ 8.1E-02 - T B S S — I — - —
] ; 'r l ! s f
L 7802 {—+—+ | 0 —_— 1 - | =S SRV (B
(‘\ | 5 | { !
G | |
8 756024 N A AR A SNSRI E— = |
= |- f { [
g ; f 5 .‘ ' *
>\ { | { | i
N& 72602 44—t — o —— — e —+- ——
; 1 ‘ -
~ | | | |
69E-02 | | S IU— e mtETH RN IS EES— | -
! ; ;
| | } | |
6.6E-02 - S S e HNNH H— S
t ' ' | ’
. | §
‘J : ’ | ! |'
6.3E-02 , O 5 ; 1 4 i
150 200 250 300 350 400 450 500 550 600 650 700 750
Q, cc/min

| O D(P2)/Q =Linear (D(P2)/Q) —Linear (D(P2)/Q) |

EEREEE RN




Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 8
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t Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 8
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 8
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 9
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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. . Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 9
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 10
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 10
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
. V3 Transect: Drillhole 10
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 11
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 11
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 12
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Log-Log plot of.differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: -
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 12
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 13
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 13
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 14
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 14
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Final check for high velocity flow effects: 3
High velocity flow effects are present when the slope Is non-zero and positive.
V3 Transect: Drillhole 14
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 15
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 15
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! Relationship between steady-state differential pressures squared and flowrate:

600

if relationship is linear, with the ordinate intercept nearly zero,

there is no high velocity flow effect.

V3 Transect: Drillhole 16
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 16
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Final check for high velocity flow effects:
High veIoc1ty flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 16
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 17
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 17

1.9 - O

log1o(A(P?)) = 1.0773l0g+(Q) - 1.2376 ] P
R?=0.9152 |

1.8

1.7

RN
[¢>]

log1o(A(P?))

15

|59 \o "Wy

14

1.3 /

1.2 : . .
2.25 2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 2.75 2.

10g10(Q)

0 2.85

( O log(D(P2)) =—Linear (log(D(P2)})) =—=Linear (log(D(PZM

Final check for high velocity flow effects:
3 High velocity flow effects are present when the slope is non-zero and positive.
’ V3 Transect: Drillhole 17
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 18
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: .
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 18
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 19
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity) |
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Final check for high velocity flow effects: ,
High velocity flow effects are present when the slope is non-zero and positive. {
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 20
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

1.38

high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 20
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' Final check for high velocity flow effects:
x High velocity flow effects are present when the slope is non-zero and positive.
z V3 Transect: Drillhole 20
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,

! there is no high velocity flow effect.

V3 Transect: Drillhole 21
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 21
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Final check for high velocity flow effects: l
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 21
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 22
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Log-Log plot of.differenti.al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 22
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V3 Transect: Drillhole 22

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
' If relationship is linear, with the ordinate intercept nearly zero,
‘ there is no high velocity flow effect.

V3 Transect: Drillhole 23
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 23
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| Final check for high velocity flow effects: ,
': High velocity flow effects are present when the slope is non-zero and positive. ;
V3 Transect: Drillhole 23 i
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,

there is no high velocity flow effect.
V3 Transect: Drillhole 24

| O D(P2) =—Poly. (D(P2)) = Poly. (D(P2)) — Linear (D(P2)) = Linear (D(P2)) |

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 24
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Final check for high velocity flow effects: |
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 24

1.1E-02

b 2/Q = -4E- 0132
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 25
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 25
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Final check for high velocity flow effects: |
High velocity flow effects are present when the slope is non-zero and positive. i

V3 Transect: Drillhole 25
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A(P?), psia’
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log1o(A(P?)

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 26
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400 500 600

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 26
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 26
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 27
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
’ V3 Transect: Drillhole 27
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 27
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 28
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 28
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 28
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‘ Relationship between steady-state differential pressures squared and flowrate:
° If relationship is linear, with the ordinate intercept nearly zero,

s there is no high velocity flow effect.

V3 Transect: Drillhole 29
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V3 Transect: Drillhole 29
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V3 Transect: Drillhole 29
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V3 Transect: Drillhole 30

40 ’
|
% A(P?) = -7TE-06Q2 + 0.0429Q - 6.6923
2 _
" R?=0.9917
v 1 AP?) = 3E-06Q2 + 0.0238Q o A(P) =0.0272Q
& | R? = 0.9834 f . R2=09782
P =7
< 45 PP l Y
/ A(P?) = 0.0297Q - 2.4081
2 _
ol . R?=0.9879
= © ]
| | | |
0 : . : — : ’E ﬁ‘ i
0 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400

Q, cc/min

LO D(P2) ===Poly. (D(P2)) =—Poly. (D(P2)) =—Linear (D(P2)) =—Linear (D(P2))J

Log-Log plot of.differenti_al pPressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)

o V3 Transect: Drillhole 30
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.

V3 Transect: Drillhole 30
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Q, cc/min
Linear (D(P2)/Q)
!

[ o D(P2)IQ

Sample Name Field ‘Well Depth | Diameter [Length| Operator | ) |
permeability | Escalante, UT | V4.7 4 | g8 4" |robert bridggsj[” ‘ -
| _measurement (top) B - | R B
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity %7*
B (in) (in) (©) (cp) - ]
092 0.92 7.211 265 | 0.01776 i
- I R R R new | -
Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample|Reading
K , (psia) (psia) | (cc/min) | (C) (md)
~_7/7/00|  1:39:56 PM 12.731 11.431 1575.6| 36.99 936.6084| V4.-7 1
i - 7/7/00]  1:41:41 PM 12.401 11.431]  952.0| 36.99 749.0094| V4.7 | 2
- 7/7/00 1:43:26 PM 12.261 11.431 688.4| 36.96 629.0141| V4.-7 3
7/7/00 1:45:34 PM 11.781 11.431 474.6| 36.92 1007.4708| V4.-7 4
| Sample Name Field Well Depth | Diameter [Length| Operator | [ [ |
permeability | Escalante, UT V4.-6 4" 5/8" 4" |robert bridges
~_measurement (top) . ] o
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity )
B (i) ~(in) (©) (cp) ]
0.92 0.92 7.211 26.5 0.01776
' new
Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample Reading
B ] (psia) (psia) (cc/min) | (C) (md) |
7/7/00 1:26:54 PM 11.751 11.431 486.9| 36.89 1128.1422| V4.-6 1
| 7/7/00 1:28:46 PM 12.171 11.431 700.4| 36.92 714.4882| V4.-6 2
7/7/00 1:31:44 PM 12.331 11.431 1038.4| 36.92 876.4772| V4.-6 3
- 7/7/00 1:33:51 PM 12.591 11.431 1544.8| 36.92 1021.8061| V4.-6 4
Sample Name Field Well Depth Diameter |Length| Operator
permeability Escalante, UT V4.-5 4" 5/8" 4" |robert bridges ]
| _measurement {top) o )
Qutside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
(in) (in) (C) (cp)
0.92 0.92 7.211 265 0.01776 B
[ Date | Time | Flow Press | Atm. Press | Flow Rate | Temp Sample|Reading
. o ~ (psia) (psia) WL_W_(cc/min) o e
7/7/00,  1:11:00 PM 12.651 11.431 682.4 425.7175/ V4-5 | 1
[ 7/7/00  1:14:11 PM 11961  11.431 463.9 648.4234| V4.5 | 2
- ~ 7/7/00,  1:16:15 PM 11.751 11.431)  253.0 581.9079 V4.-5 | 3
7/7/00 1:20:04 PM 13.041 11.431] 1159.6| 5590.2714| V4.-5 4
~_ Sample Name Field Well Depth | Diameter |Length| Operator | 1 |
permeability Escalante, UT V4.-4 4" 5/8" | 4" |robert bridges
| _measurement (top) | S R R , et ]
~ Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity w:]
I () (in) © | ) | |
L 092 | 082 | 7211 26.0 0.01774 s
| Date Time | Flow Press | Atm. Press | Flow Rate| Temp. Sample| Reading
A _ (psia) (psia) | (cc/min) L N—
~ _7/7/00]  1:05:19PM|  11.911 11.431 197.2| 36.55/822:6149408 303 V44| 1|
o ~ 7/7/000  1:07:03PM|  12.341 11.431 486.5 402.6521| V4-4 | 2 |
~ 7/7/00]  1:08:43 PM 13.371 11.431) 687.6| 36.55 276.9110| V4.-4 | 3

‘RM‘\( ov a4 o>
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~ Sample Name | Field Well | Depth | Diameter [Length] Operator | '
permeability Escalante, UT vV4-3 | 4" 5/8" 4" Irobert bridges
measurement (top) - B B
~ Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | ]
(in) (in) . © (cp) ]
0.92 0.92 7.211 26.0 0.01774 ) J
L - new )
Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample|Reading]
- - (psia) (psia) (cc/min) | (C) (md)
| 7/7/00] 12:45:46 PM 13.035 11.435 734.0| 35.85 347.3632| V4.-3 1
B 7/7/00]  12:49:21 PM 12.105 11.435|  465.2 35.86 507.6624) V4.3 | 2 |
7/7/00] 12:53:33 PM 11.795 11.435 200.6| 35.95 403.2901| V4.-3 3
Sample Name Field Well | Depth | Diameter |Length| Operator | R
permeability Escalante, UT|  V4.-2 4" 5/8" 4" [robert bridges| o
measurement (top) )
Outside Diam. Inside Diam.  Geom. Fact.| Ref. Temp. | Viscosity | )
() (in) C) (cp) L ]
0.92 0.92 7.211 26.0 0.01774
1 new i
Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample Reacfrﬁ
] (psia) (psia) (cc/min) (C) (md)
7/7/00, 12:37:32 PM 12.605 11.435 201.0| 35.83 127.9696| V4.-2 1
7/7/00] 12:39:22 PM|  13.335 11.435 432.4) 35.88 174.2982| V4.2 | 2 |
7/7/00] 12:41:10 PM 16.025 11.435 730.8, 35.88 132.1835| V4.-2 3 |
Sample Name Field Well Depth Diameter |Length| Operator
permeability Escalante, UT V4.1 4" 5/8" 4" |robert bridges
measurement (top) B
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
(in) (in) - ©) (cp)
0.92 0.92 7211 26.0 0.01774 -
A o new B
Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample|Reading|
o (psia) (psia) (cc/min) | (C) (md)
7/7/00] 12:28:40 PM 13.995 11.435 705.2] 35.69 214.5294| V4.-1 1
7/7/00] 12:30:44 PM| 12.535 11.435 448.7| 35.68 301.7769| V4-1| 2
7/7/00] 12:33:44 PM 12.085 11.435  208.2] 35.71 | 233.0280 V4.1 3
Sample Name | Field Well Depth | Diameter [Length] Operator | N
permeability Escalante, UT V4.0 4" 5/8" 4" |robert bridges
measurement (top) o )
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity ) ]
M @) o © | )
092 092 7.211 26.0 0.01774
- . new - |
Date Time | Flow Press | Atm. Press | Flow Rate Temp. Perm. |Sample Reading|
. (psia) (psia) | (cc/min)  (C) md) |
- 7/7/00] 12:21:42PM 11935 11.435]  197.4] 35.71 2854777 V40 1
L 7/7/00] 12:23:26 PM 12.335 11.435|  465.6| 35.74 380.4315 V40 | 2 |
7/7/00]  12:25:21 PM 13.445| 11.435) 704.8] 35.69) 268.1441, V40 3
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~ SampleName | Field Well | Depth [ Diameter Length Operator | |
permeabilty | Escalante, UT| V41 | 4 5/8" | 4" robert bridges| - | B
measurement (top) | | B | i j
. Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | ) a
(in) . (n) ©) (D )
0.92 0.92 7.211 26.0 | 001774 |
| new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |SamplelReading|
i (psia) (psia) (cc/min) | (C) (md) |
7/7/00| 12:13:46 PM 12.555 11.435 723.2| 35.51 475.7941| V4.1 1
i 7/7/00] 12:16:43 PM 11.895 11.435 456.0| 35.60 713.4248| V4.1 2
7/7/00] 12:19:16 PM 11.745 11.435 283.9| 35.65 655.9101 V4.1 3
Sample Name Field Well Depth | Diameter Length| Operator [
permeability Escalante, UT V42 | 4 5/8" 4" |robert bridges
~_measurement (top) _% - )
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity |
(in) (in) © ()
0.92 0.92 7.211 26.0 0.01774 N
] new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading
: (psia) (psia) (cc/min) | (C) (md)
7/7/00| 12:06:40 PM 12.505 11.435 180.0| 35.26 122.8491| V4.2 1
7/7/00| 12:08:09 PM 13.385 11.435 471.3| 35.34 182.6364| V4.2 2
7/7/00] 12:10:38 PM 15.755 11.435 724.8| 35.45 136.6474| V4.2 3
Sample Name Field Well Depth Diameter |Length| Operator |
permeability Escalante, UT v4.3 4" 5/8" 4" |robert bridges
measurement (top)
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
(in) (in) (€) (cp)
0.92 0.92 7.211 24.0 0.01765
new
Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample/Reading
- (psia) {psia) | (cc/min) | (C) (md)
7/9/00| 12:08:57 PM 12.605 11.435 193.6| 25.45 94.4014| V4.3 1
7/9/00| 12:11:15PM 13.485 11.435 484.3) 25.95 141.8286| V4.3 2
_ 7/9/00] _12:13:09 PM 15.025 11.435 679.6| 26.46 121.6008] V4.3 | 3
Sample Name |  Field ] ~ Well Depth | Diameter |Length| Operator | B
permeability Escalante, UT| V44 | 4 5/8" | 4" |robert bridges| B
measurement (top) | _ 1
~ Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity ]
i | (m) ©) (cp) ) ]
0.92 092 7211 | 260 0.01774
- - - - new |
Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample/Reading
~ (psia) (psia) | (cc/min) | (C) ma) |
7/7/00| 11:52:22 AM| 14.09 11.44 744.0) 34. 212.3871) V4.4 1
~ 7/7/00  11:56:25 AM| 12.52 11.44] 4467 298.7298 V4.4 2
~ 7/7/00] 11:59:17 AM 12.07 11.44) 191.6| 216.6801 V4.4 3




184 - 185

— ,g*
|
- 1 e » . E Sample Name Field Well Depth | Diameter |Length! Operator ’
SampleName | Field ~Well | Depth [ Diameter Length| Operator | o g e RTINS, - I Toemswy Lengwy emtweer {1
~ permeability |Escalante, UT| V45 4" | 58 4" robert bridges | { permeability Escalante, UT| V49 | 4 | 58 4" |robert bridges
measurement (top) | i S 1 ‘ measurement (top) S : — S oy o
| Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | o I - OUtS'((jii)D'am' '”s'dgn[))'am- Geom. Fact. Ref.(g)emp. V'S(E%ty I S ]
| (in) (in) - , ©C | (cp) ) o ‘ — . . | — B
0.92 0.92 7.211 25.0 0.01769 | B - 0.92 : 092 | 7211 | 230 0.01761 .
B - N ] new ] | 1 . - B new
B Date ] Time | Flow Press | Atm. Press | Flow Rate Ti ~ Perm. | | Date | Time Flt)(V;sf;:;ass Atr';;sli?;()ass F(Ig;l;rsiit)e Té(lg)p- P(::g; Sample| Reading
- ' ' - i sia cc/min md N — P (co/
B 7/7/00{ 11:44:09 AM (pS|?)1 88 g 111) 44 ”(*"262)9‘ *372(’7';530,53 vas | 1 . 7[7/00] 11:16:44 AM 12.62 1144  197.8| 30.34 118.7258| V4.9 1
— 2/7/001 11:47-52 AM 12.21 1144 4734 4465849 Va5 | 2 | - 7/7/00| 11:18:44 AM 13.46 11.44)  482.7| 30.74 176.7246| V4.9 2
~ Sample Name _Field Well | Depth | Diameter [Length| Operator | ] - Sa(anrjﬁg!ega%:ime . Esca|lz:1ltde = 71;/:1/91"0 DiF:th D'Z’/“s?ter L,%‘?th rotg:teg?'tgr l
permeability Escalante, UT V4.6 4" 5/8" 4" |robert bridges| P ty J lages
measurement (top) | ) N measurement (top) ! . e -
| Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | - ; - - Outsm(iii)Dlam. : ,lfls'dgn?‘am- Geom. Fact. Bgf;(g%mp- ,V‘S(ZE?'W B
[ (in) _(in) © (cp) 0 | L L S N B
B 092 0.92 7211 | 250 001769 | ] | 092 0.92 _ren 26.5 0.01776 e —
new L - , .
Date Time | Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample Reading | Date . Time FIC)(V;;IsTar;ass AtTF;SFi’;;ass F(Is;r;i;e T?gl)P- P(;fg; Sample| Readingj
. B i sia cc/min C md — in
B P 7/7/00]  11:36:15 AM (pSI?Lf§1 u I1 % 44 { 71 5)6i 353 )23 18(9 4)249; V4.6 1 i 7/7/00 31?9356 PM 13.546 11.416 " 441.4| 37.30 163.3693| V4.10 1
‘ 717/00, 11:38:57 AM 12.73 1144 4742 33.46 266.5050j Vas 2 7700 341:28PM 16.436 11.416 7188 37.31 122.7854| V4.10 | 2
A5 Al : =7 a—rTy : i ra ) 7/7/00]  3:43:38 PM 12.646 11.416]  184.6] 37.31 114.6174 V4.10| 3
7/7/00]  11:41:34 AM, 12.16) 11.44.  192.2| 33.69 190.6336] V46 | 3
~ Sample Name Field | Well Depth | Diameter |Length| Operator | - Sag:ﬂ:a';ﬁge EscaT;er)\'ti i \YX‘?Q Di?th 1 D'at_)’;‘s‘ite" Le;:?th rot)(z?tetr)?it(;)res[ ]
permeability Escalante, UT V4.7 4" 5/8" 4" [robert bridges| ] p Lo iL) : - | 9
measurement (top) ) ' _measurement (top) | ] ‘
 Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | i B : Ouﬁ§|<(:1ic:‘)Dlam. ,,,'Ui'qgﬁ?'am- Geom. Fact. Ref.(g)emp. V'S(z;?'tL
| (in) (in) | ] (©) (cp) o F — =\
0.92 092 | 7211 | 245 0.01767 1 092 0.92 7.211 23.0 001761 | | -
new S . _
i Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. | Samplel Reading Date ~Time Flo(\:)lsli’ar)ess Atr(gr;sli’:)ass F(Iggnlzli:;e sz‘g;p- F(‘:g; Sample| Reading
i sia c/min C md — _— !
[ 7/7/00 11:32:21 AM 12.16 11‘44 4756 32%85 468:797577\/4:7 2 i . 7/7/00/ 11:08:38 AM 1257, 11.44|  456.3| 28.75 270.5045| V4.11 2
B 7/7/00  11:33:50 AM| ¢ 13.04 1144  714.8| 33.02 320.4785| V4.7 | 3 | 7/7/00; 11:11:38 AM 12.14 11.44 208.9| 29.34 200.6305| V4.11 3
— T Field = T Barater Nenathl Operator | 1 1 | | Sample Name | Field |  Well Depth | Diameter |Length| Operator
~ Sample Name Field Well Depth | Diameter Length| Qperatorirw ] I U, AL A S . —k Lol ek :
permeability Escalante, UT| V48 | 4" | 58" 4" [robertbridgesl ] permeability  Escalante, UT| V412 | 4 58 4" robert bridges
measurement (top) T ‘ - | measurement (top) N - B R i | o
| Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | B T - 99!3%9@“ | ,'T!S'dgnf)"am- Geom. Fact. Refr(gmp- V'izg,?'ly o
I (.0) A o AN (L1 N ©) | _(ep) R B S R L LS . s ; - .
092 | 0% | 7211 | 2385 001763 | I | . 02 08 | 7211 | 220 001757 | .
_ -~ | o o o R : ————— = — T - .
Date | Time | Flow Press | Atm. Press  Flow Rate| Temp. n. Sample/Reading - Date _ Time F'O(‘gsFi:;ass AtTF;SFi) ;‘;SS F(';’:;rzﬁ_;ﬁ F;::g; Sample| Reading
i ' /mi c R o - Ps ( _—
o 7/7/00  11:22:36 AM| (pSI?; 90 ”('pSI1a«: 44 fec r6n7|ré)0 (€) 206.9421 V4.8 1] - ~ 7/7/00| 10:58:51 AM| 1197, 1144 1858 220.5827| V4.12 1
- 7700 112404 AMI 1268 1144 4786 3174 2808608 V48 @ 2 | ) ~ 7/7/00| 11:00:32 AM 1246 11.44 496.7 316.8867 V412 | 2
o 7/7/00 112721 AMl 12.14 11'44?” T 1928| 3225 7@92371177W87 3 7/7/00| 11:01:45 AM 13.55| 11.44 720.4 233.7396| V4.12 3
B o\ Isefey o a. orlelon
\ (LY
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i ‘ — ~_ Sample Name Field Well Depth | Diameter |Lengthi Operator | ]
Sample Name | Field Well ' Depth | Diameter [Length| Operator e permeability Escalante, UT| V4.17 4" 5/8" 4" [robert bridges
permeability Escalante, UT V413 | 4" | 5/8" | 4" |robert bridges measurement (top) T "“
| measurement (top) _ | | Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity B
| Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | R N (in) ] (in) () (cp)
(in) (in) . © ep) | ! N i 0.92 092 7.211 205 0.01751
0.92 0.92 7211 | 215 0.01755 ‘ - B now
B S ! | : % NOW - Date | Time Flow Press | Atm. Press | Flow Rate | Temp. _Perm. |Sample|Reading
Date Time  FlowPress A Atm. Press | Flow Rate| _Perm. |Sample/ Reading [ (psia) (psia) | (cc/min) | (C) (md)
(psia) (psia) | (cc/min) (md) 7/7/00] 10:21:01 AM 13.52 11.44 688.8] 20.86 185.7365| V4.17 | 1 |
7/7/00|  10:52:05 AM 1928) _ JlAdl 6980 2436443 V413 | 1 | N - [ 7/7/00] 10:22:10 AM 12.77 11.44)  479.8] 20.99 198.2614| V4.17 | 2
: 7/7/00] 10:54:06 AM| 1235 ~ 11.44] 458.7 25 316.4449 V4.13| 2 °| 7/7/00,10:24:04 AM 12.13 11.44)  203.7 21.19 159.8067| V4.17 | 3
7/7/00] 10:55:57 AM 11.99 11.44 190.9 217.8307| V4.13| 3
sy - S _ - ‘ _— Sample Name Field Well Depth Diameter |Length| Operator r
Sample Name | Field _ Well | Depth | Diameter Length Operator | | permeability Escalante, UT| V4.18 4" 5/8" 4" |robert bridges|
permeability | Escalante, UT| V4.14 4" 5/8" 4" |robert bridges| I measurement (top) T T N
measurement (top) | B — - : | Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
| Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp. | Viscosity | ] (in) (in) (©) (cp)
(in) | (in) R (€) (cp) B 0.92 0.92 7.211 27.0 0.01778
092 092 7.211 21.5 0.01755 | B o —T , new
5 o I Now Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample Reading
Date Time Flow Press | Atm. Press | Flow Rate | Temp. ~ Perm. |Sample|Reading| (psia) (psia) (cc/min) (©) (md)
. - t (psia) (psia) (cc/min) | (C) _(md) B 7/6/00]  4:14:45 PM 12.076 11.406 168.1| 35.47 175.1496| V4.18 | 1
S 7/7/00] 10:43:23 AM 12.28 11.44) 188.0} 23.78 130.7201 V4.14 | 1 7/6/00|  4:16:02 PM 12.756 11.406]  477.7) 35.49 253.7326| V4.18| 2
7/7/00| 10:47:42 AM 12.95 1144/ 484.0] 2438 196.8469 va4.14 | 2 7/6/00]  4:19:32 PM 14.326 11.406]  694.0, 3556 180.0764| V4.18 | 3
7/7/00 _10:48:53 AM 14.33 11.44 702.4| 24.60 157.7328] V4.14 | 3
— i - S : Sample Name Field Well Depth Diameter |Length| Operator
SampleName | Field Well Depth | Diameter Length| Operator | N permeability Escalante, UT|  V4.19 4" 5/8" 4" [robert bridges
permeability !7 Escalante, UT V4.15 4" 5/8" 4" |robert bridges . measurement (top)
__measurement (top) | _ 3 Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity 4 (in) (in) (©) (cp)
(in) 1 (in) () (cp) ] 0.92 0.92 7.211 27.0 0.01778
0.92 . 092 7.211 20.5 0.01751 | N e
= NS new ) ; Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample|Reading
Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample|Reading (psia) (psia) (cc/min) | (C) (md)
(psia) (psia) | (cc/min) | (C) (md) 7/6/00]  4:07:26 PM 11.716 11.406]  581.6 35.35 1286.0954/ V4.19 | 1
7/7/00|  10:33:53 AM 12.64 1144/ 726.8) 2243 353.9766| V4.15 | 1 7/6/00|  4:09:17 PM 11.826 11.406]  708.4) 35.38 1162.5335) V4.19| 2
7/7/00] 10:35:32 AM| | 12.12 1144/ 4951 2266 421.3008| V4.15 | 2 7/6/00]  4:10:53 PM 11.896 11.406 951.2] 35.41 1343.0016| V4.19 | 3
7/7/00]  10:38:01 AM| & 11.78] 11.44 193.4] 23.00 329.4651| V4.15 | 3
I . T D SampleName |  Field |  Well Depth | Diameter |Length] Operator | [
Sample Name Field | Well Depth | Diameter Length Operator | = | permeability Escalante, UT|  V4.20 4" 5/8" 4" robert bridges
permeability Escalante, UT| V416 4" 58" 4" robert bridges| measurement (top) - T
| measurement (top) I o " Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity R
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | | R R R (in)’ (in) (C) (cp)
() (i) © | . 092 092 | 7211 | 260 0.01774
092 092 | 7211 205 | 0.01751 T ' i i - T ~van
| B S 4 new Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample|/Reading
Date Time Flow Press | Atm. Press | Flow Rate | Temp. | ~ Perm. | Sample Reading ' | (psia) - (psia) (cc/min) (md)
! | (psia) (psia) | (cc/min) | (C) ' (md) | 7/6/00] 4:00:18PM| 11776 11.406 519.2 996.2778/ V420 | 1
_ T7[700f 10:27:47 AM| 12.75 11.44  201.0] 21.60 0 86.7109| V4.16 | 1 | ) 7/6/00|  4:02:08 PM 12.016 11.406 785.2 923.7543 V420 | 2
BT 7/7/001  10:28:57 AM 13.87 11.44  486.8] 21.75 J4fS0 118.5247| V4.16 | 2 | - 7/6/00]  4:03:04 PM 12.136 11.406]  1077.6 1065.6856 V4.20 | 3
7/7/00, 10:30:08 AM 15.61) 11.44 723.6| 21.94 2443905 109.0576| V4.16 3 7/6/00 4:04:21 PM 12.306 11.406 1491.2 1204.2157 V4.20 4

Qe o“\ \»50 ’o‘)
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- : , ‘ y ‘ Sample Name Field - Well |  Depth Diameter |Length Operator i

SampleName [  Field | Well [ Depth | Diameter lLength| Operator | ~ permeability Escalante, UT|  V4.25 4 | 58 | 4" [robertbridges | |

permeability Escalante, UT| V421 | 4" | 58" | 4" robertbridges R e S B e T =
measurement (top) — S B — ‘ ~ Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp. | Viscosity ? B
Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | . | (in) ~(in) ©) (cp) i -
(in) (in) . ©) (cp) § 092 0.92 7.211 255 | 001771 | T ]
B 0.92 092 | 7211 26.0 0.01774 B e ~ B new —
B | . - _mew | . ] ~ Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Readin
" Date Time | Flow Press | Atm. Press | Flow Rate | Temp. .| Sample|Reading - - ] (psia) | (psia) (cc/min) | (C)p (md) pemeadng
B ;. . (psia) | (psia) (cc/min) | 7/6/00]  3:14:31 PM 11731 11.411] 1041.6 35.16 23426076 V425 | 1 |
- 7/6/00]  3:45:16PM| 11771 1411 4472 Efboma Yol | 1 4 7/6/00  3:14:58 PM 11.821 11.411| 14836 35.16 2614.0567) V425 | 2 |
o 7600 - SATOLPMI __ 12371] W 11ALh 7212 45581 VAol 2 | 7/6/00] 3:17:24PM___ 11.921  11.411| 18784, 35.12 2668.6934| V4.25 | 3
7/6/00]  3:48:42 PM 12.561| 11.411]  1042.8] 35.08 660.8824 V421 | 3
, R : , W] ~ Sample Name Field ~ Well | Depth [ Diameter [Length| Operator |
Sample Name Field |  Well Depth Diameter |Length| Operator | N perrr?e%bility Escalante, UT | V4.26 4" 5/8" 4" (robert bridges
permeability Escalante, UT V4.22 4" 5/8" | 4" |robert bridges ] measurement (top) T -
_ measurement (top) N S I _ i Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity -
~ Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | I . | (n) ©) o |
(i) (in) - © cp) . | | . - — 092 0.92 7211 | 245 | 0.01767 {
- 092 082 7211 26.0 0.01774 i R new
: : | new : Date Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. |Sample|Reading
~ Date ~_Time | Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading - (psia) " (psia) (cc/min) | (C) (md) |
. (psiy) | (psia) _ (cc/min) | (C) L. ) o B 7/6/00] 1:55:48PM|  11.746]  11.426] 10152 35.32 22521135/ V4.26 | 1
. _Wlei00;_ Ses ol BM| 41,101 11.411)  601.2) 34.88 §205.7287| V422 | 1 7/6/00  1:57:48 PM 11.816 11.426  1445.6] 35.45 2648.7333| V4.26 | 2
7/6/00,  3:37:11PM|  11.891 11.411)  773.6| 34.90 1138.0856, vV4.22| 2 7/6/00] _ 1:59:54 PM 11.906 11.426| _ 1872.0, 3561 2809.9071| V426 | 3
7/6/00] 3:38:46 PM| 11961  11.411]  1020.0, 34.95 1315.2180] V4.22 | 3
7/6/00, _ 3:40:01 PM 12151, 11.411] _ 1561.6] 34.92 1506.7932| V422 | 4 SampleName | Field Weil Depth | Diameter |Lengih| Operator |
i N - permeability Escalante, UT V4.27 4" 5/8" 4" |robert bridges
Sample Name _Field ~Well Depth Diameter |Length] Operator measurement (top) ‘*
permeability Escalante, UT|  V4.23 4 5/8" 4" _|robert bridges Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity |
measurement (top) | o : N (in) (in) . () (cp)
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity B 0.92 092 7211 245 0.01767 |
(in). ~(in). . (© (cp) ) - 1 new
0.92 . 082 7211 | 260 | 0.01774 B Date Time Flow Press | Atm. Press | Flow Rate Temp. Perm. | Sample|Readin
S— z —TIOW : (psia) (psia) | (cc/min) | (C) (md)
Date . Time Flow Press | Atm. Press | Flow Rate | Temp. _Porm. _|Sample| Reading 7/6/00]  1:43:26 PM 12.016 11.426]  1525.6] 34.47 1811.4931| V4.27
| (psia) (psia) | (cc/min) | (C) L (md) 7/6/00  1:47:31PM 11.896 11.426|  1011.6 34.75 1512.6638| V4.27| 2 |
7/6/00, _ 3:30:00 PM 11.671 1411 1905] 349 5126.5261) V423 | 1 7/6/00]  1:48:58 PM 11.796 11.426]  688.4) 34.82 1304.8017| V427 | 3
| SampleName |  Field | Well | Depth |[Diameter Length| Operator | . | | | SampleName |  Field | Weil | Depth | Diameter |Length| Operator | ]
permeability Escalante, UT| V424 | 4" | 58" | 4" |robertbridges| - permeability Escalante, UT| V428 | 4° | 58" | 4" robertbridges |
measurement op) 1, _ e T R e e measurement (top) f w’

Outside Diam. | Inside Diam. | Geom. Fact. | Ref. Temp. | Viscosity . L ~ Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | I
. . O L P . — | : i (in) - © | ©p | B
6% 082 | 7211 | 285 | 0.01771 | I ] 092 ' 092 7.211 245 0.01767

N N 0 I I S hew . ] KN T  new | |
Date | Time Wflgwﬁl'?_res’s Eelif I?ress ;AFlow B _Perm. | Sample Reading ) - @e17 : ‘Time Elgysfﬁférsfsi _'A’fr'ri."ﬁr'érss Flow Rate | Temp. v _Pﬁe?ﬁf.n §ample Reading
4 (psia _ (psia) | (cc/min) (md) | | R | (psia) | (psia) | (co/min) | (C) (md) =
| 7/600] 3:20:27 PM iasel)  tlall]  1909.6 Lfefie aea ) ) - 7/6/00  1:37:06PM| 11746 11.426]  764.4 34.19 1641.4882 V4.28| 1 |
. 7/6/00 3:22.00PM| 12171 11.411]  1425.2 19682502 Vazd | 2 ~ 7/8/00] 1:38:23PM|  11.796]  11.426 10020 34.19 1864.8406) V4.28 | 2
7600, 323:27PM| 12,001 11411 937.2) Qg 1150.1237) V424 | 3 7/6/00]  1:40:10 PM 11.906 11.426]  1499.2, 34.32 2168.8075, V428 3
- 7/6/00,  3:24:51PMI 11.901 11411 680.4 8 1000.4258 V424 4
7/6/00,  3:26:36 PM 11.751 11411 5284 51112.7443 V424 5

%th A l 5"[‘7')




190 191

o
S
©
‘SampleName | Field [ Wel T Depth T Diameter [Length” Operator | ,,‘
permeability Escalante, UT V4.29 47 4 5/8" | 4" |robertbridgess = | R
| _measurement (top) | - i I I S R D N
| Outside Diam. | Inside Diam. ' Geom. Fact.| Ref. Temp. | Viscosity | I R ‘ % 1
@) oo T © () , I N R . e 5
0.92 0.92 7211 240 | 0.01765 - - e M L 2
, o e f‘ - N _ new + © C— X -
| Date ~ Time Flow Press | Atm. Press | Flow Rate | Temp. Perm. | Sample| Reading C M~ N W0
- (psia) | (psia) | (cc/min) | (C) (md) o = = S X
[ 7/6/00] 1:23:52PM|  12.246 11.426]  1546.8| 33.99 1339.3569 V4.29 | 1 = = O O =
B 7/6/00]  1:25:41 PM 12.056 11.426)  991.2| 33.98 1108.3523 V429 | 2 | S o non &
[ 7/6/00]  1:29:31 PM 11.936]  11.426]  697.6| 33.96 958.3371 V4.29| 3 | 3 S o s, a
7/6/00]  1:31:24 PM 11.756 11426 5184, 34.01 1094.0367| V4.29 | 4 = 5 it ‘\é_ nd 8 a
_ B S I - S e ] © 1 [ S’ \(E E
| SampleName | Field . Well | Depth | Diameter [Length| Operator I N s @ | B g 2
permeability | Escalante, UT|  V4.30 4" 5/8" | 4" |robert bridges| T > | O R -
measurement (top) - I R N D QT Z
Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp. | Viscosity-| I g 8 — 0
iy (i) | . © (p) ] ] 3 c e/ =
0.92 092 7211 240 | 001765 | ,I ; w4y . . N = a
_ . new | | 2870 * & =G
o Date Time | Flow Press | Atm. Press | Flow Rate | Temp: Peln.‘_fys_gmplgfﬁggdiﬁg 2 Q2 uq:’ L O 5
. - (psia) (psia) | (cc/min) - (md) [ ?» 20 ‘ - o
B 7/6/00]  1:17:53 PM 11.756 11.426]  699.6 1471.6678 V430 | 1 i S 35 o)) =
B 7/6/00]  1:19:09 PM 11.846 11.426]  1022.4 1697.6923 V430 2 =909 > -
7/6/00 1:20:34 PM 11.966 11.426 1528.8 1984.2115| V4.30 3 E‘ @c _8 N T "=
=] 'G = i , B co O i = S 3
- e}
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£ >0 N ‘ W «~ (e Y
556 3 e g
% 352 To) |
- - = <~ C\T\ =3
5 S< 3 — O - S =
>0 92> -1 ! © N
_c c n— O N o
ﬁ Log S 2
kS — >
-2 < © M ©
c .= o © a
o £ ATe)
22 oS O
E c . \ =
4] g + O - N < &\
s I o
20 g « a
G = S o
g [ L
= L -
% & <
) i ( ~
o I
A~
N
a s
S
<
‘; T T T T } L O
N @ <+ o
8 & I |8 ¢ ¢

Leisd ‘(.d)V

Qeven oo f0?




Qal 94 ‘ 1o \,A,«”\i‘:}‘

aole v Y N
r

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole -7

¢6l

1.6
2
. logo(A(P?)) = 1.053710g10(Q) - 1.8133 q
R® = 0.8532
1.4
N& 1.3 4
2
e
o |
o 1.2
1.1 4
1.0
0 9 O T T T T T T R T T T o T
2.65 2.70 2.75 2.80 2.85 2.90 2.95 3.00 3.05 3.10 3.15 3.20
log10(Q)
— , :
1 ,OJO,Q(,D(PZ)) ——Linear (log(D(P2))) =Linear (Iog(D(PM
— -~ o— - R
Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
V4 Transect: Drillhole -7
2.9E-02
@)
5 .
A(P?)/Q =-9E-07Q + 0.0233
2.7E-02 A 2
R*=10.0077
E 2.5E-02 -
) O
K
“®@ 2302
n
o
g
N& 2.1E-02 -
<
&
1.9E-02 -
1.7E-02 ; : : : ; ; ; : ; : ;
450 550 650 750 850 950 1050 1150 1250 1350 1450 1550 1650

Q, cc/min

| © D(P2)/Q ==Linear (D(P2)/Q) ==Linear (D(P2)/Q) |
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole -6

28
| |A(P?) = -2E-05Q° + 0.05Q - 12.079
R*=0.9614
20
|
J‘Z? ” , o | , .
3y A(P?) = 0.0193Q A(P?) = 0.0176Q + 1.9649
s @ R2 = 0.8859 R* = 0.8966
i |- SpPY
<
8 - z O s
s K(Pz)ﬁ: -4E-06Q° + 0.0239Q
R*=0.9184 |
0 - : . ‘ : . :
0 200 400 600 800 1000 1200 1400 1600
Q, cc/min
| o' D(P2) —Poly. (D(P2)) —Poly. (D(P2)) — Linear (D(P2)) = Linear (D(F2))
Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
V4 Transect: Drillhole -6
1.5
| 10g16(A(P?) = 1.0733l0g4(Q) - 1.9277 O
R?=0.8716
1.3 |- |
e 129
z 3
>3
s 3 1.1
3 _
5 10 -
0.9 -
O
0.8 : : — ! . : , — — :
2.65 2.70 2.75 2.80 2.85 2.90 2.95 3.00 3.05 3.10 3.15 3.20

l0g40(Q)

L O log(D(P2)) ==—Linear (log(D(P2))) ====Linear (log(D(P2))) ‘

G6l



)WY

‘m| -\ \0

(oo ) 10 'WWY

L

Final check for high velocity flow effects:

High velocity flow effects

are present when the slope is non-zero and positive.
V4 Transect: Drillhole -6

2.5E-02 : O
A(P?/Q = -2E-07Q + 0.0199
2.3E-02 -
R* = 0.0007
<
£
- O 21E02-
L @)
“©
‘w
o
o 19E-02 1
N& o
4
1.7E-02 - I
15€-02 1O : : : : : : : : : : :
450 550 650 750 850 950 1050 1150 1250 1350 1450 1550 1650
Q, cc/min
[ 0 D(P2)/Q =—Linear (D(P2)/Q) =—Linear (D(P2)Q) |
Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
V4 Transect: Drillhole -5
40 ‘
| |A(P?) = -2E-05Q° + 0.0677Q - 10.063
R*=0.9515
30 - O
o 25
8 [ ’2 - 2 -
Q 2 ‘A(P ) = -1E-06Q° + 0.0361Q | .
oy | R*=0.9272 | | A(P?) =0.0369Q - 1.4408
Tl | | R® = 0.9296
10 | 21 I !
5 iA(P ) =0.0351Q
| .~ R*=0.9269
0 . : : : , . , [ . . :
0 100 200 300 400 500 600 700 800 900 1000 1100 1200
Q, cc/min

| O D(P2) = Poly. (D(P2)) ==Poly. (D(P2)) — Linear (D(P2)) = Linear (D(P2)) |
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logio(A(P?))

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)

V4 Transect: Drillhole -5

1.6

1.5

log1o(A(P?)) = 1.1676l0g(Q) - 1.9447
R® = 0.9465

14 4

1.3

1.2 4

114

1.0 {

0.9

08 T T T T L T T T

240 2.45 2.50 2.55 2.60 2.65 2.70 275 2.80

log+0(Q)

2.85 2.90 2.95 3.00

| O log(D(P2)) = Linear (log(D(P2))) = Linear (log(D(P2))) |

3.05

3.10
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Lojog)ro VA

A(P?)IQ, psia®/(cc/min)

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.

V4 Transect: Drillhole -5
4 4E-02

O

4.2E-02
4.0E-02 |
3.8E-02 |
3.6E-02 -
3.4E-02
3.2E-02 {-
3.0E-02 j

2.8E-02

2.6E-02

A(P%)/Q = 8E-06Q + 0.0284
R®=0.1713

250 350 450 550 650 750
Q, cc/min

T

850 950 1050 1150

| O D(P2)/Q =Linear (D(P2)/Q) =—Linear (D(P2)/Q) |
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